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R XTI ttest(<EEAR1>, <IFK 2>, var.equal=F)

= t.test( c(128, 104, 124, B85, 120), c(100, 106, 89, B9, 105), var.equal=F )

welch Two Sample

data: c(128, 104, 124, 85,

T =1.6434, df = 5.6914,
alternative hypothesis: 1

95 percent confidence interval:

-7.325827 36.125827
sample estimates:
mean of x mean of vy

112. 2 97.8

T-Test

p-value = 0.1541

120) and c(100, 106, 89, B9, 105)

rrue difference in means is not equal to O

plEN TR REND

t.test( c(128, 104, 124, 85, 120), c(100, 106, 89, 89,

105), var.equal=F )
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> t.test{ c(128, 104, 124, 85, 120), (100, 106, 89, 89, 105), var.equal=F ) >1t.t§5t( c(128, 104, 124, 85, 120), c(180, 190, 189, 131, 130, 150}, var.equ
al=F
welch Two sample t-test
welch Two Sample t-test

data: c(128, 104 124, oy, LZuUr Ciais) Ty 06, 89, 89, 105)

t =1.6434, df = 5. 6914,| p-value = 0.1541 data: c(128, 104, 124, | ARG g, 189, 131, 130, 150)
a1ternat1ve hypothesis: i leans is not egual to 0 t = -3.5422, df = 8.4866

95 percent confidence interval: alternative hypothesis: true arts s not equal to O
-7.325827 36.125827 95 percent confidence 1nterva1

samp'le astimates: _81.25114 -17.58219

mean of x mean of y

sample estimates:
mean of x mean of vy
112.2000 161.6667

112.2 97.8
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